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Generating a grid X52952_en

Write a program that, given triples of positive natural numbers n, m, side generates
grids with n xm squares with side side as those shown in the examples.

Input

An arbitrary number of cases, each of them consisting of three positive natural numbers n,
m, side on one line.

Output

For each case, the corresponding grid followed by a blank line.

Sample input Sample output

222 R aaat:

313 boF

131 ot

115 R aaat:

87 2 boF

42 4 ot

352 R aaat:

63 4

344 Rt

75 3 o

51 4 oot

182 o

733 FhhH

44 4 bt

233 o

36 4 o

214 BhaE

36 2 o

681 o

271 oot

432 FhtH

741

523 B

352 ot
R aaat:
R aaat:
# #
# #
# #
# #
# #
R aaat:
BHEEEE R
T T A A A
R A A
BHEEEE R
A T A A A




#0# # # # # # #
FHEFHHHRE A F AR S
# # # # ¥ £ £ #
## # # # # # #
FHEFHHH AR F AR S
# # # # # £ £ #
## # # # # # #
HHEFHHHRE A F AR HS
# # # # ¥ £ £ #
## # # # # # #
FHEFHHH AR F AR S
# # # # ¥ £ £ #
#0# # # # # # #
HHEFHHHRF AR F AR S
# # # # ¥ £ £ #
## # # # # # #
HHEFHHHFH A F AR S
#0# # % # # # #
## # # # # # #
FHEFHHH AR F AR HS

PR RAS
# # #
# # #
# # #
# # #
PR SRAS
# # #
# # #
# # #
# # #
R RS L L Ed
# # #
# # #
# # #
# # #
PR RAS
# # #
# # #
# # #
# # #
PSSR
Rk

# 0# # # o+ #
# 0# # # o+ #
HHEFHHH R AR AAS
# 0# # # o+ #
# 0# # # o+ #
HHEFHHH R AR AAS
# 0# # # o+ #
# 0# # # o+ #
HHEFHHH R AR AAS

FHEFHHH A SRS
# # # #
# # # #
# # # #
# # # #
FHAFE A
# # # #

# # # #
# # # #
# # # #
g aatatadi
# # # #
# # # #
# # # #
# # # #
Rk
# # # #
# # # #
# # # #
# # # #
RS
# # # #
# # # #
# # # #
# # # #
i satatadi
# # # #
# # # #
# # # #
# # # #
g aatatadi

SR
# # # # #
# # # # #
# # # # #
# # # # #
FHEF RS
# # # # #
# # # # #
# # # # #
# # # # #
FHEF RS
# # # # #
# # # # #
# # # # #
# # # # #
SRR

FHAFE A
# # # # # #
# # # # # #
# # # # # #
FHEFHHEFF AR AR
# # # # # #
# # # # # #
# # # # # #
FHAF A
# # # # # #
# # # # # #
# # # # # #
FHEFHHEFF AR
# # # # # #
# # # # # #
# # # # # #
FHEFHHEFF AR AR
# # # # # #
# # # # # #



# # # # # #
FHEFHHEFF AR
# # # # # #
# # # # # #
# # # # # #
FHEFHHEFF AR
# # # # # #
# # # # # #
# # # # # #
FHAFE A

R L
# #
# #
# #
# #
R L
# #
# #
# #
# #
iiddadi
# #
# #
# #
# #
iiadadi
# #
# #
# #
# #
L
# #
# #
# #
# #
iiadadi

FHEF R A
o % # # # # #
# F # # & # & # #
FHEF RS

R L Ed
# # # #
# # # #
# # # #
FHREF SRS
# # # #
# # # #
# # # #
FHREF SRS
# # # #
# # # #
# # # #
RS EEEd
# # # #
# # # #
# # # #
iR A AR
# # # #

# # # #
FHAH A
# # # #
# # # #
# # # #
FHEFHHERHHERS

FHEF RS
# # # # #
# # # # #
# # # # #
# # # # #
FHEF RS
# # # # #
# # # # #
# # # # #
# # # # #
SRR
# # # # #
# # # # #
# # # # #
# # # # #
FHEF RS
# # # # #
# # # # #
# # # # #
# # # # #
FREF RS

RS EEEd
# # # #
# # # #
# # # #
FREF SRS
# # # #
# # # #
# # # #
FHEF SRS

FHEFH AR
# # # # # # #
# # # # # # #
# # # # # # #
# # # # # # #
FHEFEH AR
# # # # # # #
# # # # # # #
# # # # # # #
# # # # # # #
FHEFES SRS
# # # # # # #
# # # # # # #
# # # # # # #
# # # # # # #
FHEF RS A



iiadadi
# #
# #
# #
# #
L
# #
# #
# #
# #
R L
FREF RS

o+ # # # # 4
# o4 # # # # 4
FREF RS
# o+ # # # # 4
o o+ # # o+ #
FREF RS
# o+ # # # # 4
o o+ # # o+ #
FREF RS

FEEF RS
LI A A A A A A
R Ed
L A A A A A A
FEEE RS
#FF F F F FFF
FEEE RS
LI A A A A A A A i
R Ed
LI A A A A A A
FEEE RS
#FF F F FFFF
FEEE RS

R EE
AN EEE
FREF RS A
#oFF F F F FF
FREF RS AS

#HEFHHESHA
#o# # #
# # o+ #
#HEFHHESHA
#o# # #
# # o+ #
#HEFHHESHA
#o# # #
#o# o+ #
#HEFHHESHA

Observation

You can generate the output character by character or with strings built previously, it’s up

to you.

Assessment over 10 points:

4 o+ #
# # # #
#HEFHHEEEHA

FHEFSHEHS
##F #F#
FHAHEH A
#o#F #F#
FHEFHHEHS
o F ##
FHEFSHEHS
##F #F#
FHAHES A
#o#F F#
FHERHHEHS
o F ##
FHEFHHESS
o F ##
FHAHEH A

IS aEEEE
# # #
# # #
# # #
IS aEEEE
# # #
# # #
# # #
fhEfEEEEE
# # #
# # #
# # #
FHE SRS
# # #
# # #
# # #
IS EEEEE
# # #
# # #
# # #
SRS Ed

i sasatatadi
# # # # # #
LA S A A
g asatatadi
# # # # # #
LA S A A
FEEFH AR AR SA
# # # & # #
LA S A A
g satatadi



¢ Slow solution: 5 points.

¢ Fast solution: 10 points.

We understand as fast solution one being correct, with linear cost and able to overcome both
the public and private tests. We understand as slow solution one not being fast, but correct
and able to overcome the public tests.
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